Unit 9 Assignment Graded Problem Set
The digital textbook can be a little complicated to read the correct problems.
We have created this reference to help!
· Section 9.7, page 482, problem 3.
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· Section 10.1, page 510, problems 2 and 8.
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· Section 10.2, page 518, problems 2, 5, and 9.
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· Section 10.3, page 522, problems 2, 6, and 8.
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· Section 10.4, page 527, problems 2, 5, and 11
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Exercise 7, Section 10.1 10
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P = {a,d, e} for Exercise 2|0, Section 10.1 (0
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Figure 10.1.5 0
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Exercise 2 |0J, Section 10.1 10
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2. Find the flow that corresponds to the matching of Figure 10.4.2 |00 Show that this flow is
‘maximal by exhibiting a minimal cut whose capacity is 3.
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5. Show a maximal matching.
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11. Five students, V, W, X, Y, and Z, are members of four committees, C'1, C3, C3, and C'y. The
members of Cy are V, X, and Y; the members of C; are X and Z; the members of Cs are V,
Y, and Z; and the members of C; are V, W, X, and Z. Each comnittee is to send a
representative to the administration. No student can represent two committees.

A (a) Model this situation as a matching network.

B. (b) What s the interpretation of a maximal matching?
C. (c) What is the interpretation of a complete matching?
D. (d) Use Algorithm 10.2.4 .2 to find a maximal matching

E. (e) Is there a complete matching?




image1.tmp
3. Eight coins are identical in appearance, but one coin is either heavier or lighter than the
others, which all weigh the same. Draw a decision tree that gives an algorithm that
identifies in at most three weighings the bad coin and determines whether it is heavier or
lighter than the others using only a pan balance.
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8. There are two routes from city A to city D. One route passes through city 8 and the other
route passes through city C. During the period 7:00 AM. to 8:00 AM., the average trip times are

Ato B 30 minutes
AtoC 15 minutes
BtoD 15 minutes
C'to D 15 minutes.

The maximum capacities of the routes are

Ato B 1000 vehicles
AtoC 3000 vehicles
BtoD 4000 vehicles
C'to D 2000 vehicles.

Represent the flow of traffic from A to D during the period 7:00 A.M. to 8:00 A.M. as a network.
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